
GeneticSolver

- blacks:  int ([])
- ci:  ControlInterface
- colorQuant:  int
- doubleColors:  boolean
- FEASIBLE_CODES_MAX:  int = 1 {readOnly}
- feasibleCodes:  ArrayList<Row> = new ArrayList<Row>()
- fitness:  int ([]) = new int[POPULAT...
- GENERATION_SIZE:  int = 500 {readOnly}
- parentPos:  int = 0
- population:  Row ([]) = new Row[POPULAT...
- POPULATION_SIZE:  int = 2000 {readOnly}
- whites:  int ([])
- width:  int

- addToFeasibleCodes() : boolean
- calcFitness() : void
- compare(Row, Row) : int[]
- divide(int[], Row[], int, int, int) : int
- doubleToRnd(Row[]) : void
- evolvePopulation() : void
+ generateGuess() : Row
- generateRndGuess() : Row
+ GeneticSolver(ControlInterface)
+ geneticSolverTest(int) : void
- getParentPos() : int
- initPopulation() : void
+ initResults() : void
- inversion(Row[], int) : void
- lookForSame(Row[], int) : boolean
+ makeGuess() : int
- mutation(Row[], int) : void
- permutation(Row[], int) : void
- sort(int[], Row[], int, int) : void
- sortFeasibleByFitness(int[], Row[]) : void
- swap(int[], int, int) : void
- swap(Row[], int, int) : void
- xOver1(Row[], int, int) : void
- xOver2(Row[], int, int) : void

Clues

- compare(Row, Row) : int[]
+ isFeasible(ControlInterface, Row) : boolean

Bruteforce

~ allCols:  Color ([])
~ allowedCols:  Color ([])
- ci:  ControlInterface
- colQuant:  int
- doubleColors:  boolean
~ guess:  Row
- width:  int

+ Bruteforce(ControlInterface)
- findColorIndex(Color[], Color) : int
+ generateGuess() : Row
+ makeGuess() : int

RandomGuesses

~ allCols:  Color ([])
~ allowedCols:  Color ([])
- ci:  ControlInterface
- colQuant:  int
- doubleColors:  boolean
- width:  int

+ generateGuess() : Row
+ makeGuess() : int
+ RandomGuesses(ControlInterface)

«interface»
SolvingAlgorithm

+ generateGuess() : Row
+ makeGuess() : int


